EXERCISE

Determine the force in members GE,GC and BC for the truss shown below

» 400kN

3m

A D

B C

LGl SIS
A\ 4

1200kN

4m 4m 4m

g by Saffuan Wan Amad



EXERCISE -
(SOLUTION)
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> M= 0,

R > (12 ) + 1200
Ro = 900 kN

> K =0,

Ra+ Robo — 1200
R = 1200 - 900

300 kN

Z Fx = 0,

H » + 400 - 0

Slocke)

(8) + 400 (3)

A = — 400 kN
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EXERCISE
(SOLUTION)

Z Mc =0,

300(4) - (-400 x3)— Fec(3)=0

Fec = 800 kN
FGC
Z Fy — O’ -400 B >

1

300 - Foc(3£) =0 00
Fec = 500 kN

Z Mc =0,

Fce(3)+300(8) =0

Fee = —800 kN
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